International Maths Wizard Olympiad
(IMWO)

CLASS-3 SAMPLE QUESTION PAPER

The Actual Question Paper Contains
40 Questions. The duration of the
Test Paper is 60 Minutes.

Which place value is used to prove that 6598 is less
than 6985 ?

(A)
(B)
(©
(D)
(E)

Ones place

Tens place
Hundreds place
Thousands place
None of these

A ballis drawn from a bag containing balls numbered
from 1 to 1000. The ball drawn out bears a number
119 more than the least 3-digit number. What is the
number ?

(A) 100 (B) 119
(€ 219 (D) 999
(E) None of these

For a cricket match at Sharjah, 2608 tickets were sold
on the first day, 3986 tickets on the second day and
3102 tickets on the third day. How many tickets were
soldinall ?

(A) 9696

(B) 9686

(C) 8696

(D) 9866

(E) None of these

A T-shirt costs T 85, find the cost of 10 such T-shirts?
(A) 850

(B) 900

(C) T 1000

(D) % 1500

(E) None of these

Diya spent 28 days at summer camp. What is the total
number of weeks she spent?
(A) 4
(C 5
(E)

B) 2
(D) 8
None of these
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Which one of the following is wrong?
(A) 1130ml=1030ml

(B) 2125 ml=2025ml

(C) 2180ml=2800ml

(D) 3115ml=3015ml

(E) None of these

A group photograph shows 15 men in a row. Rohan is
at middle. What is his position from right end?

(A) 7th (B) 15th
(C) 8th (D) 10th
(E) None of these

The wrong number in the series.

3,8, 15,24, 34,48, 63 is .

(A) 15 (B) 24
(C) 34 (D) 48

(E) None of these

Oranges are transferred from a larger box into 2
smaller boxes and still 10 oranges remain unpacked.
If the oranges in a small box are taken to 100, what
was the number of oranges in the larger box?

(A) 190

(B) 200

(C) 210

(D) 220

(E) None of these

The difference between the face value of 5 in 3517 is

2995

5005

395

495

None of these

(A)
(B)
(©
(D)
(E)




